Multiplication et Division par 10 (E)

Trouvez chaque produit ou quotient.

1,9 +10= 5,2894 +- 10 =
972+ 10= 9,72 +10 =
8,012 - 10 = 9,505 x 10 =
1,2x10= 6+10=
1,4118 X 10 = 7,683 +~ 10 =
1,8x 10 = 6,1 X 10 =
2,3949 x 10 = 1,16 - 10 =
1,08 - 10 = 9,11 x 10 =
4,025 x 10 = 2,623 +~10 =
2,077 x 10 = 9,4 X 10 =
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Multiplication et Division par 10 (E) Solutions

Trouvez chaque produit ou quotient.

1,9+10=0,19

9,72 +10=0,972

8,012 +10=10,8012

1,2x10=12

1,4118 x 10 = 14,118

1,8 x10=18

2,3949 x 10 = 23,949

1,08 +10=10,108

4,025 x 10 = 40,25

2,077 x 10 = 20,77

5,2894 - 10 =0,52894

9,72 +10=0,972

9,505 x 10 =95,05

6+10=0,6

7,683 +~10= 10,7683

6,1 X 10 =61

1,16 +10=0,116

9,11 x10=91,1

2,623 +-10=0,2623

9,4 x 10 =94
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